SID #:

Section:

115 116

Instructions

You have 50 minufes o complete the exam.
Mark only on the exam
Do not separate the pages.
Lhow all work.
Partial eredit usll be awarded where applicoble,



1 Multiple Choice (10 Points)

CIRCLE ONLY the statements that are TRUE. If a statement is FALSE, DO
NOT circle the response. A guestion may have ALL, MULTIPLE, or NO
true statements.  You will be revarded for the THUE statements you select
and penalized for marking FALSE statements as TRUE. It is not in your best
interest to simply guess, as it is possible to achieve a NEGATIVE score.  If
you cirche ALL of the statements, you will end up with ZERO POINTS. Unless
otherwise stated, always assume the standard two good scenario, (xy, £7).
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Problem 1 Budget Constrai o {F“+P‘fl-}?' -1—(.?‘_1" f;,:_-)" =

Consider the good budget constraint, pyry + pyxz = m, I
& quantity tes, £ = E is mpplied to good 1 and a quantity tax, ty = %, is
applied to good 2, t .
e = J. E - 1 = i
@'hﬂqﬂ\'ﬂﬂi to pyxy + paxg = %m. ‘-lﬂ r 2 h%

# The budget constraint will not change, because both prices are affected
by a tax of the same proportion.

s The budget constraint will make a parallel shift QUT.
ﬂchﬂgﬂﬁﬂﬂmﬂﬂm&upﬂrﬂlﬂmﬁﬂ.
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Problem 2 Preferences

Consider & simghe consumer and two bandles, A and B, fA - Fand B = A,
where - means “at least as good as,” then we can conclude that,

# This consumer has intransitive preferences.
is consumer is indifferent between bundle A and B (ie. A~ B).

ancther bundle, C, is strictly preferred by this consumer to bundle B
e = ), then bundle & is strictly preferred to bundle A {ie. & = A).

¢ Bundies A and B lie on DIFFERENT indifference curves.
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Problem 3 Indifference Curves
drg

HH“=J;_' This is the of substitution of goeod 1 for good
z llhlhe-muémul‘pmdzwith you must be compoosated for a unit
Joss af good 1. (Do not be Think of zg on the y — aris and xy on
the = —aris.)

@umwmulmﬁlrlﬁﬁ.ﬂmm-ﬁdﬁhh{md
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# Indifference curws can cross i preferences are NOT comv,
# The absolute value of the dope of an indifference curve, or |[M RSz, Is
ALWAYS aqual to the price ratio, &,
Fe ply ot
NeT TRvE - e iy
o fornas  golvtitng q{*&-l bardd e (¥
- P
Problem 4 Engel Curves vlew, y et F > 0
_,,,-""f‘ goods have upward slopiog Engel curves.
goods have downward sloping Engel curves. Yy

the income offer curve (10C) or income expansion path is strictly in-™
cremsing, then the Engel curve for each good is upward sloping.

g

s The Engel curves for perfect substitutes are always linear, but the Engel
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» For an ordinary good, the income effect (1E) always goes in the SAME
direction as the substitution efect (SE).

s A good is EITHER always a normal good OR always an inferior good,
but cannot be BOTH (i.e. sometimes normal and sometimes inferior).
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2 Short Answer (20 Points)

Answer all parts of the following question in the space provided. [ you need
ndditional space, use the hack of each page. Scratch paper b avallable, I
EORSEATY.

Problem 6 Liopd Christmas only constumes Atomic peppers (A) and 18-packs
of Beer (B). Suppese Lioyd can purchase the following bundles of Atomic
Peppers and Beer (A, B). He can afford bundles of (40, 10} and (12, 24).

1. Solve for the relstive price of Atomic peppers to Beer (F -)?
]

2. Let py = 5. Solve for the price of Beer (pg =) and the kevel of income
(m =).
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3. T Lioyd's MRSas = 22 of Atosalc peppers for Beer ks CONSTANT and
equal to =2, what of goods are Atomic peppers and Beer?

barfed cbst bodes

4. Draw Lloyd's budget set with Atomic peppers (A) on the & — arxis and
Beer (B) on the y — axis. Label the two intercepts, the slope, and draw
some indifference curves implied by a CONSTANT MRS u = -1
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5. What is the consumption bundle (A*, B*) for Lloyd? Show this

On your above.



6. Suppose Lloyd's preferences change from those in (3) . His pew preferences

; = —_Palm)
imply the following demand function for Beer, 5* _F—H{FH*'FA}- Using

m = 360, pa = 4, and pg = 8, determine Lioyd's optimal bundle (A", B*).
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7. Suppose a guantity subsidy (s) is imposed on the price of Beer (pg) such
th:theptiud]huiamtilhh*l:i.a.arp?’]. Using m = 360,
Pa =4, and py = B, what is the NEW optimal bundle (A**, B**) after
you impaose the subsddy?




B, Graph Lioyd's ORIGINAL budget set from part () with Atomic peppers
(A) on the r —aris and Beer [ B) on the y —axis. Label the intercepts, op-
timal bundle a = (A*, 5], and tangent indifference curve (Ufy). On the
SAME graph, draw Lloyd's NEW budget set (i.e. after the price subsidy).
Label the intercepts, the new optimal bundle ¢ = (A™", B*"), and tan-
gent indifferenos curve (). Assume "nice, smooth™ convene indiference
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9. What is the TOTAL EFFECT of the price change on the demand for Beer
(&B). Above, show graphically the income effect (I E) and substitution
effect (SE) on demand for Beer. You are NOT required to give specific
numerical values for each effect.
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His 56 BL , 5 (K", 8") = (do, rr)
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Optional /Extra Credit (5 Points)
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u(A, B) = vA+ vB. DERIVE the demand curves for good A and good
B a8 a function of prices (pa, pg) and income [m). In other words, solve
M:Mﬂuﬂwwmhd = f(p4,pg, m) and

B* = g(pa.ps.,m). To receive full credit, you must show your work. DO
NOT solve for a specific optimal consumption bundle, rather find the func-
tional form that characterizes the optimal bundle for all prices (pa, pu)
and income [m).
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